4 Analysis of Recursive Functions
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GENERAL PLAN FOR ANALYSING THE EFFICIENCY OF RECURSIVE ALGORITHMS
1) Decide on parameter(s) that indicate input size

2) Identify basic operation.
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3) Check whether the number of times the basic operation is performed depends
only on the input size.

4) Set up a recurrence relation with its initial condition.

5) Solve the recurrence. ( using known tools =) )
or at least, find the order-of-growth of the solution.
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https://www.mathsisfun.com/games/towerofhanoi.html
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https://www.mathsisfun.com/games/towerofhanoi.html
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